- 292D OE ANYT

FoLITouF [LALBI] KRB HIEA= 2H U110
(EREOT>+>Y5EA)
AL 7 = miESs H 35 Y
1(=7|fREH BF] LA R—TSHE | Bt | 9 4-2 4-3 2-0| 11
2| B A= ERTA B0 2-4 4-2 [1-1] 311
3|\ H O EA IR S | (9| 3-4 4-1 [1-1]| 2fx
4|7 AT SEEE JPAYRFRT - | BiE | 8 2-4 1-4 0-2| 411
B0 g R/ Al X
1|2\ 48T IRAE A=-9Z94VTA | &l |10 4-0 4-0 2-0| 141
2 |sors| FIE <5 (8| 0-4 3-4 |0-2| 3u
3|0 AR FIBK (RIN2K-YT5>=>5 | B[ 7| 0 - 4 2-4 |0-2| 4fI
4 2| BIAS A STIRF=Zt> 59— | BiE| 8 4-3 4-2 2-0| 2f
UL—)L -3 EBIE) (S>F> A > NiESY)

T —H %, NERIBI M=) MITRWET, 1,2 M=) 3,40 =)D b CBESESIBEEV,
4 N)-JDi5EF1vs2 - 3vsd/1vs3 - 2vsd/ D2 EHEITVET

JBAERTES A OB QBEEMNR OBKkAE @7>F>) DIEETRELEY,

cFIE 45 - LEE TR T-SHEROFE

<K 65— LGB TR F—SHAROFE



https://www.spojin.com/ranking/pdf/20171019ranking.pdf

2p A AT D FAHYT

5/::/7 5’;’.;5;3;59 Match . ~
FpLIIIv5 [LANIVRIIKBR fHERA= 2H  U10
1,26 =5 b 3 AT —F o
fRE BF] Ll A~
LA > R—TSFEED e
PRREH B L 1
N 65 _ , =5
i e IEiFE FPk
AIRT RS- AR NRK—Y TS5 =28
HO =4 L {—
65 N =
HO x4 A TREE
AR HE 1| JPAYRTZT—SHBE
HO =4 FalE <5
62 64
EY TRAE TS 255

AZ=JX591TA



o 292D AT

-

- ﬁb:}’éﬁgggeﬂfawn W AN

I (LB KBR HIE K= 28 U12

(BEEDS5>+>75EH]
[ ] w18 = = = Y

1|02| $R1E B3 MSHIH)—~ 7 11 4 -6 6-1 1-6 |1-2]| 3
2 [1997| ]\AK BE A STRF=2t>9— | BE| 9| 6-4 6-4 4-6 |2-1| 24
3|25\ BE CCHA SryNOLF=2957 | @i |11 1 -6 4 -6 6-3 |1-2| 41
4= Fifg B FIATAZT(ER | EH|11] 6 -1 6-4 3-6 2-1| 1fiI
Ub—)L- 3B EIE) (5>F>IR1> MR 9]

D TIBAEREVET, ZE55EBBEEL,

JNBEDRTETS A, OBSEN QEHENR OBKRE @2+ OIRETRELEY.
‘A 65 -LK%E/ 7R\ UT-SHBROFTE


https://www.spojin.com/ranking/pdf/20171019ranking.pdf

SIS

AESEH

[10i% T DEB)
&8 : 0 A8 EF
#EEES : IRA BF BF

(125 T DEB)
&0 : LR & #F
HERES : IV BN EF




